Orb Drop 5
Assembly Instructlons

BY SPINPAL




Auto | Al - A9

Component Qty. Component Qty.
9
9

Wood Sheets -1, 2, 3, 4 4
Base | B1-B6 (4xB6) Plastic Sheets — 5 1
Curves | C1-C6 (4x C2, C5b) 7 1/2" Steel Balls 5
Gears & Wheel | G1, G1b, G2, W1 4 2" #4-40 Screw 4
Rails | R1-R7 (a/ball) 14 1-1/4” #4-40 Screw 2
Rail Connectors (3x RC, 2x RCh) 5 1" #4-40 Screw 4
Supports | S1-S5 (s1,52, 54, S5, S5b, S5¢) 6 3/8" #4-40 Screw 2
Twists (~30 extra) 120 1/4” #2 Wood Screw 9
#4-40 Lock Nut 16
H4 Washer 22
#4-40 T-Nut 2
LED Light Kit (Add-On) Magnet w/ Countersink Hole 3
Component Qty. 1/2” #2-56 Flat Head Screw 3
RGB LED Strip 2 #2-56 Square Nut 3
Male to Male Jumper Wire, 11.8" 2 Spacer (1/4" OD, 1/8" L, #4) 3
Spacer (3/16" OD, 7/16" L, #4) 3
GM3 - Gear Motor 3 - 90 degree 1
Rocker Switch 1
Power Adapter Kit (Add-On) 3xAA Battery Holder 1
Component Qty. Male to Male Jumper Wire, 3.9" 1
USB 2.0 Male to DC 5.5x2.1mm Jack 1 spade Wire Connector 2
DC Power Jack Adapter Connector 1 Alligator Clips 2
Motor Gear 9T 1
Flat Funnel 1
1/16" Hex L-Key 1
Orb Drop Stout (Add-On) NalFie -
Component Qty.
Wood Main Plate 2
Wood Top Plate 2 Leveling Kit (Add-On)
Bea"rlng 1 Component .
3/8" #2 Wood Screw 8 2-1/4" #4-40 Screw 4
1/2" Steel Balls 8 Round Base Weld Nut #4-40 4
Aluminum Standoff #8-32 x 5/16 1 Rubber Bumper 2
#8-32 x 0.75" Threaded Stud 1 Bubble Level 1
Black Thumb Nut #8-32 2

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS




Step 1 - Base

BY SPINPAL

ORB DROP 5 | ASSEMBLY INSTRUCTIONS

Screw

Washer ¢

Nut &



Step 1 - Base

E. Nut?‘

Wires

Battery Pack
]

! Screw

N Screw

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 4




Step 1 - Base

Plastic Gear

~Wood Screw

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 5




Step 1 - Base

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS



Step 1 - Base

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS




1/4” ODx 1/8" L

A. B.

3/16” ODx 7/16" L

Step 2 - Lift

Screw

Washer
Middle

Hole

Bottom
Hole

\Flat Head Screw

"\,

“-\(Magnet

Square Nut ,

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 8




Step 2 - Lift

BY SPINPAL

Washer

1/4”0Dx 1/8" L

ORB DROP 5 | ASSEMBLY INSTRUCTIONS

F.
\ W
Middle
Bottom Screw
Hole
H.

Middle
Screw
{



Step 2 - Lift

Washer

¥ Wood Screw (x5)
1/4” 0D x 1/8" L

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 10



Step 2 - Lift

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 11



Step 3 - Track

BY SPINPAL

ORB DROP 5 | ASSEMBLY INSTRUCTIONS




Step 3 - Track

R7b (x2)

R7a (x2)

C2 (x2)

G. H.

' ]
°
/° Washer

()
Screw /

3/16” OD x 7/16” L

Washer

Hopper

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 13




Step 3 - Track

o

J.
L. R6a
Csc

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS



Step 3 - Track

R5a

Rail 5

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 15




Step 3 - Track

C5b
3
& Wood Screw (x3)

3

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS




Step 3 - Track

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS



Step 3 - Track

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS



Step 3 - Track

DD.

C2 (x2)

R2a (x2)

EE. FF.

Rail 2

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS 19



Step 3 - Track

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS



Step 3 - Track

BY SPINPAL

ORB DROP 5 | ASSEMBLY INSTRUCTIONS

Washer

oV

Nut

NN.

3/16” OD x 7/16” L Spacer




Step 3 - Track

If any supports or components
are not solid enough, ensure
they are in the correct position.
Then, add glue to connection
points as needed to lock in
place.

BY SPINPAL ORB DROP 5 | ASSEMBLY INSTRUCTIONS




Orb Drop Stout

ORB DROP 5 | ASSEMBLY INSTRUCTIONS 23



Orb Drop Stout

BY SPINPAL ORB DROP 5| ASSEMBLY INSTRUCTIONS 24



	Slide 1: Orb Drop 5 Assembly Instructions
	Slide 2
	Slide 3: Step 1 - Base
	Slide 4: Step 1 - Base
	Slide 5: Step 1 - Base
	Slide 6: Step 1 - Base
	Slide 7: Step 1 - Base
	Slide 8: Step 2 - Lift
	Slide 9: Step 2 - Lift
	Slide 10: Step 2 - Lift
	Slide 11: Step 2 - Lift
	Slide 12: Step 3 - Track
	Slide 13: Step 3 - Track
	Slide 14: Step 3 - Track
	Slide 15: Step 3 - Track
	Slide 16: Step 3 - Track
	Slide 17: Step 3 - Track
	Slide 18: Step 3 - Track
	Slide 19: Step 3 - Track
	Slide 20: Step 3 - Track
	Slide 21: Step 3 - Track
	Slide 22: Step 3 - Track 
	Slide 23: Orb Drop Stout
	Slide 24: Orb Drop Stout

